WFEF L OVRFIF [FEKX] K

%3EXNU)
1 (1) 2ac +6bc (2) 5a—2
(3) —4x*>—5x%y—xy (4) ga—3b+9

(5) xy+10y+2y?

% AN (2)
1 (1) xy—4x+3y—12 (2) x*+x—6
(3) 8x2—18y? (4) x2+7x+12

(5) x2+6x—16

% BN (3)

T (1) xX*+4x+4 (2) x¥*—6x+9
(3) 4a2+12a+9 (4) x2—4
(5) x2—16y?

% AN (4)

T (1) 3(x+2y) (2) 4ab(a—3)
(3) x(x—6y+1) (4) —xy(3x+y+1)

(5) bab(b+3a+2)

% A N(5)
1 (1) (a—8)2 (2) (x—4)(x—5)
(3) (Ta+5)(7Ta—5) (4) (T+X)(T=X)

(5) 4(x+3)(x+1)



WFEF v Ly VRFIF (HEX] BX
% BR(6)
1 (1) 952-5?
= (95+5) (95—5)
=100X90
=9000

(2) 1052
= (100+5) 2
=100%+ 2 X 5x 100 + 52
=10000 + 1000 + 25
=11025

(3) 532—47?

(53+47) (53—47)
=100x 6

=600

(4) 52X4.8
= (54+0.2) (5-0.2)
=25-0.04
=24.96

% BR(7)
1 24°—18° = (24 + 18)(24 — 18) = 252 252 cif



